Further Practices


Further Practice 5.1A
Basic

1. Write 81 x 81 in index form using
(a)
9 as the base, 




(b)
3 as the base.

2. Simplify the following. Give each answer in positive index form.
(a) 
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Intermediate

3. Simplify the following. Give each answer in positive index form.
(a) 
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(b)
6e4(f2)3 × 3(ef)2
4. Evaluate 7(g–2)–4 × 2g3 + 18g0.
Challenging

5. Simplify the following. Give each answer in positive index form.
(a) 
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(b)
[(j4)(j–2)(j3)]–2
Further Practice 5.1B
Basic

1. Evaluate. Give your answers in simplest fraction or simplest mixed number.
(a) 
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(b)
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2. Simplify the following.
(a) 
(2k5l3)2  
(b) 
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Intermediate

3. Simplify the following. Give your answers in positive index form.
(a)
3p3q2 ×  
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(b) 
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4. Simplify the following. Give your answers in positive index form.
(a) 

[image: image11.emf]4342
(3t?)?









  

4t3u2

(3t2)2

 ÷ 
[image: image12.emf](2t2U4)3

12ut?









  

(2t

2

u

4

)

3

12ut

2

 
(b) 
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Challenging

5. Find the value of x for each of the following.
(a) 
5x = 
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(b) 
4x = 2

Further Practice 5.2A
Basic

1.
Express each of the following in standard form.
(a) 
74 200  
(b) 
42  
(c) 
0.712  
(d) 
0.00183

2.
Express each of the following as ordinary numbers.
(a) 
4.721 [image: image16.emf] 103  
(b) 
7.81 × 105  
(c) 
4.32 × 100  
(d) 
6.3123 × 10–3

Intermediate

3.
Express each of the following in standard form. Give your answers correct to 

3 significant figures.
(a) 
471.38  
(b)
2 387 100  

4.
Express each of the following in standard form. Give your answers correct to 

3 significant figures.
(a) 
0.04257  
(b)
172.3 × 10–1
Challenging

5.
Express each of the following in standard form. Give your answers correct to 

3 significant figures.
(a) 
47.72 × 105 × 10–3  
(b) 
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Further Practice 5.2B

Basic

1.
Evaluate the following. Give your answers in standard form.
(a) 
(4.32 × 104) + (3.82 × 104)  
(b) 
(7.82 × 10–3) [image: image19.emf] (4.11 × 10–3)
2.
Evaluate the following. Give your answers in standard form, correct to 3 significant figures.
(a) 
(8.321 × 105) [image: image21.emf] (3.13 × 105)  
(b) 
(2.351 × 10–3) + (9.332 × 10–3)
Intermediate

3.
Evaluate the following. Give your answers in standard form.
(a) 
(4 × 103) × (5 × 10–2)  
(b) 
(2.76 × 104) × (3 × 103)  
(c) 
(8.2 × 107) ÷ (2 × 105)  

(d) 
(6 × 10–4) ÷ (4 × 10–3)  

4.
Evaluate the following. Give your answers in standard form.
(a) 
(4.72 × 103) + (3.2 × 104)  
(b) 
(1.45 × 10–2) + (3.11 × 10–3)  
(c) 
(7.12 × 109) [image: image23.emf] (2.4 × 108)  

(d) 
(4.22 × 10–4) [image: image25.emf] (2.01 × 10–5)
Challenging

5.
A factory produces about 18 printers in an hour. Given that the factory shuts down for 

8 hours a day, how many printers does the factory produce in
(a) 
1 day,  
(b) 
the month of July, 
(c) 
1 year?
Give your answers in standard form, correct to 3 significant figures.

(Note: There are 31 days in the month of July.)
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